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Note :— (i} Answers may be written either in English
‘or in Hindi; but the same medium should

be used throughout the paper.

(i) Thé maximum marks printed on the.
- question paper 2re applicable for the student‘s

of the reguiar colleges (Cat. ‘A”). These marks ).

will, lzowever;r be scaled up proportionately

in respect of the students of NCWEB at the
time of posting of awards for compilation of

result.
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Answer any Five questions.
All questions carry equal marks.
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Explain the concept of scarcity. How does it give

rise to economic problems ?

What is a market economy ? How does a market

economy solve the central problems ? 74+7%

T Y HeheT TR FIWT | g i wweah
F R yer s @ Y 2

TR eien @+ oaevd ¥ ? IR
FdTE B gaeaaE # R YER '
@ ¥ ?

Define cross-elasticity of demand. Distinguish
between substitutes and complementary goods on

the basis of cross-elasticity of demand.
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() Prepare the schedules for total fixed cost, total

variable cost, average fixed cost, average cost
. .

“and margi'nal cost curves on the basis of data

given below :
Q TC -
0 120
1 180
2 200
3 210
4 295 )
5 260
6 330 69
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Q TC
0 120
1 180
2 200
3 210
4 225
5 260

6 330

(@) Derivethe demand curve of a consumer from the

price consumption curve.

(b) What is an indifference curve ? Discuss the

properties of indifference curves. TV, 7%
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What are the features of perfectr competition ?

Derive the short-run supply curve of a firm under -

" perfect competition.

{c)

(%)

(@)

(m

What is a shut-down point ? Explain the

shut-down point using a diagram. 5,6,4
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(@ Why are average cost curve and marginal cost

curve U-shaped 7

(b) What is the relationship between average cost

curve and marginal cost curve ?

{¢) If the average cost of a product is constant,
then what will be the shape of average cost and

marginal cost curves ? 84,3
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What are tpe assumptions of monopolistic
compétition ? How does a _f"irm. in monopolistic
competition achieve equilibriumr in the s_hort run
and ltlmg rurll ? Show t}-le excess capacity of the
firm, ’ - 5,73
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(@) , What is dead-weight loss ? Why does it arise

under monopoly ?

() What is a cartel ? What are the objectives of a

cartel ? Why does a cartel fail 7 T, TV
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Write short notes on any fwo : C T%TY%
() Economic Rent

()  Entry barriers

(¢} Law of variab]é proportions

{d) Objeéti\(es and methods of protection,
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